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13 X 12
Add together 0.3, 3 and 0.05.

Greg starts his shift at the bakery at 04:35. He finishes at 12:15. How
long was his shift?

The attendance of a football match is 34,294.
22,495 support Ipswich, 7,491 support Norwich and the rest don't
support either. How many people at the match don't support either?

Write 0.6 as a fraction in its simplest form.

Rosie is paying of f her credit card balance of £829. She plans to make 3
payments of £265. How much more will she still have to pay?

. . 5
How many minutes are there in — of a day?



